Trig Functions and Identities 2 ANSWERS

10 (i) | tanx =-1.33 Bl
126.9 Bl
306.9 B1V
(ii) 6005y+L=13 or +6secy =13 Bl
cos y
Forms quadratic in cosy or secy (6cos’y — 13cosy + 6 = 0) M1
Solve 3 term quadratic M1
48.2 Al
311.8 AlY
(iii) | 2z -3 =0.775 (or 2.37) radians Bl
Solves for z using radians M1
1.89 and 2.68 Al [11]
0606/21/M/J/11
4 (a) Expresses with common denominator Ml
2sinx
5 Al
Cos™ x
sinx 1
2 ——=2tanxsecx or 2tanx = 2tan xsecx Al ag
COSX COSX COsS X
(b) cosx=,/1— P’ Bl
cosec2x = — Bl
sin2x
1
—_— Bl [6]
2py1-p°
0606/22/M/J/11
:
sinf cos@ M1 M1 for adding fractions in terms of
cos@ sinf sin/cos/tan/cot correctly
infcosé
- % M1 M1 for use of correct identity
=sinfcos@ Al Al for correct solution only
13]
OR
tzan or c?te M1 M1 for adding fractions in terms of tan/cot
tan"@+1 cot"@+1
correctly
- tan’B or cotq Ml M1 for use of correct identity
sec'd  cosec’d
=sinfcosf Al Al for correct solution only
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2 sin” @ Bl B1 for numerator
4tan’ @ Bl B1 for denominator
_ sin@
2 tand M1 M1 for rearrangement
= °°259 k=05 Al
(4]
Bl
= Ittt B1
4—4cos’ 0
cos’ @
- o088 M1
2 Al
0606/13/0O/N/11
7 (a) cot’x= Bl
(@) tan’ x
cosec’x = 1 + cot’x Bl
2
= 1+L2 or P :l Bl
P P
OR Draw triangle with 1, p and p* + 1 correct Bl
Vpi+l1 2
cosec x = NPT Bl cosec’x= p_:-l B1
P
(b) secf= Bl
cos@

Multiply out and correct use Pythagoras M1
sin® @ Al
cos@
sin@sin @ — sinftand Al

cos@
[7]
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2 @) '
o
Sine curve through (0, 0), (90, 1)(180, 0)
B1
Cosine curve
through (0, 2), (45, 1), (90, 0), (135, 1), (180, 2) Ml
Al
@ 2 B1v
i) 2 BIY
[5]
0606/22/0/N/11
. 1
11 (i) tan 3 x=4 B1
(l x =J76 B1
2
151.9 or 152 B1Y
(i) tanycosy=siny and cos’ y=1-sin? y Bl
Solve quadratic Ml
siny=0=y=180 Al
36.9 Al
143(.1) AlV
3 1 . 1 B1
(iii) cosz=x— ortanz=x-—= or sinz=%=—
2 NE) 2
Eandmorﬁandzorzands—” Bl
6 6 6 6 6 6
B1
ST g T ST N T
6 6 6 6 6 6
[11]
0606/23/0/N/11
2 (i) Graphs B1 BI1 for one correct curve
B1 BI1 for a second correct curve consistent
with the first curve
[2]
@) 3 VBl Follow through on number of clear points
of intersection
(1]
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cos x(1 +sin x)+ cos x(1 —sin x)

1-sin’x
2cosx

cos” x
2secx

Ml

DM1
Ml
Al

(4]

M1 for attempt to get in terms of a single
fraction

DM1 simplifying numerator

M1 simplifying denominator
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